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General Instructions :

()

()

The question paper comprises of three Sections, A, B and C. You are to attempt all the
sections.

All questions are compulsory.

All questions of Section-A, Section-B and Section-C are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 and 5 in Section-A are two marks questions. These are to be
answered in about 30 words each.

Question numbers 6 to 16 in Section-A are three marks questions. These are to be
answered in about 50 words each.

Question numbers 17 to 21 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Section B has 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.
Question numbers 25 to 33 in Section-C are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

Question numbers 34 to 36 in section C are two marks questions based on practical

skills. These are to be answered in about 30 words each.
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HII-3T / SECTION-A
1 TSRl SOl 9 319 R 99Ed €1 fomr 8 fafaw)

What do you understand by valence electrons? Explain.
2 TEIHII T fohdl had § 7 SHRT Teh Sl fafa |
Define a polyatomic ion. Give one example of it.
3 3 Sfet & S fafey e e & fa wifern e wisen e §e e S 2
Give example of the organisms that have cilia and flagellum for moving around.
4 e *1 fagra fafaw) ag @1 swiar &2
State Archimedes Principle. What does it signify ?
5 &alf o IO hi ST hifoly |
Explain the term reverberation of sound.
6 @ () 39 d@e w1 A fafee e =g & @ &6 ot
(i) I 1 AR qUT FAHH fafEn
(i)  TRHO] § g2 h erafeufd wel R ?
(b)  SfeTan THIY T A T 4u AT HH AR H < W ¥ | 38H =2l *i Hen forat

(@) (i) Name the scientist who discovered neutrons.
(if) State the charge and mass of a neutron.
(iii) ~ Where is neutron located in an atom ?
(b) Helium atom has an atomic mass of 4u and two protons in its nucleus. How many

neutrons does it have ?

7 (a) e TUT SRSH GATH G 3 : 8 % TIUM H HAINSA Bohd e SRSAFIRS A R |
AifiTer H TSt Sl AT T STU e HifTT |
(b)  fafe= ] S SRRl & TR H Y A T SR §R URY H Yhfaea sieds
JHTY] h GIHM % 1/16 AN %l T8 o €9 § fa0 M < <1 Rl fafaw |
(@) Carbon and oxygen combine in a ratio of 3 : 8 by mass to form carbon/dioxide.
Deduce the ratio by number of atoms in the compound.
(b) While searching for various atomic mass units, scientists initially took 1/16 of the mass
of an atom of naturally occurring oxygen as the unit. State two reasons. (atomic masses
O=16,C=12)

8 (@) IR 1 Ry fafae |
(b) 3 Tl % A fafen fSeRt T €

6 AJUTHTIRA (i)  UHIEHEIR

(@ T T Yk Tt SeiS | formme TSl S e e it

(i) CO3~ (i)  HNO,

(@) Define atomicity.

(b) Name the elements whose atomicity is :
(i) Tetraatomic (ii) Monoatomic

(o) State the number of atoms present in each of the following chemical species :
() CO3~ (i)  HNOs
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9 g HINTRI Sial H 376 IR H 3171/ as fafie fafiriea e w@ €1 = 3o faftre 3
3Tl st gt < T 1 SRt i o fafereied fRaRemy foem €

forferee & fafirtera fshameraa

&I

BES

2

qMEE

sRrsfa

AfEs

In multicellular organisms, the organs/tissues perform various specialised activities going on
in body. The list of some specific organs is given below. You have to write specialised
activities of the organs.

A N A

Specific Organs Specialised Activity

1. Heart ... 0oL
2. Lungs ..o
3. Kidneys ...l
4. Stomach ...l
5. Small intestine ..., ...
6. Brain ...

10 JATRIZET, STATEES 3R ReTwEe fmeim & sefn e qon ufmerd =g 21 3
() TR den S w6 o et @7
(i) ST &% THR & Ui & S i)
Thallophyta, Bryophyta and Pteridophyta are cryptogams whereas, Gymnosperm and
Angiosperm are Phanerogams
() Devise the meaning of cryptogams and phanerogams.
(if) Give one example of each of the above type of plant.

11 Teh hiAH! H Teh YES F1 <@1 T 3R Tt 1 3Tk T SIH H - & @ o971 H o AT 1A 3
fafed 3R =1ea IS f 98 W1 frd TR TIMIART 31 €7 F I 50 T9F I T HER FH S
@RI TRl fer R ot 87 0 i e § F=n % o TR 5 0 e Sed S Aifet |
A rabid dog was seen in a colony and everyone was afraid of going near to it. Name the
disease and state how this disease is transmitted ? The dog is presently considered the
reservoir of the disease. What is the meaning of ‘reservoir” here ?
What steps should the Government take to prevent the spread of the
disease ?

12 IcAThdl 9ol Sclad ol okl gREm fafew) Sceied 9o 59 #renl W i o © 3R 3
Set@ e |
Define buoyancy and buoyant force. State the factors on which buoyant force depends ?

13 #TE Afo < TS AgHI o o E @el © H 9 9ol 9gF R gl 640 m © 1 9 98 AR R § i 3

e Tl UfaeAt 4s % v SR gEdt wfaeaf veelt wfasaf & 3s gveE g ¥
(@) A H = o, a9
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(b)  SHI =@EH % S @ g4 uRerfad wifw

A person when he standing between two vertical cliffs such that he was 640 m away from the
nearest cliff when he shouted, he heard the first echo after 4seconds and the second echo 3
seconds later. Calculate

(@) the velocity of sound in air, and

(b) the distance between the cliffs

14 A 1 faga e HIf S S & ®ar @ Sfeh ol &1 sl g Sl €, HROT 3
e HIfSU|

State Archimedes’ principle. Explain the reason that a cork floats in the water where as an iron
nail sinks.

15 T AT ST S9mE 60 foraiumm € den 399 90 W wifsd faemm € 40 Thve ® 9ieR 3
YA R ¥g Sl Bl A WUH B YAE @G 20 em S @ Hifgdt w1 e ufiswfad
CAIE I

A man has power of 90W and mass 60kg runs up a staircase in 40 seconds. If each step of
staircase is 20cm high, calculate the number of steps.

16 fea =1 faga &1 s it faat e <ok i 3 fagga oot & gfel &t @ud o0 w6 & *E 39 3
e | fede 3 39 el W sTa foran IR @ Sl 7 T qH|
() I T UY Yered Y foegd i o= 2 wehdt T
(b)  Tode % e o =EER 9 Y = g Tk © 7

Hiten received a heavy electricity bill. His friend suggested him some ways to cut down on
the high electricity units consumption. Hiten followed those suggestions and was able to cut
down on the expenditure.

(@) Suggest any two ways which help in saving electricity.
(b) What can you learn from the behaviour of his friend ?
17 () SR g HHHEY 5
() ] HEeA (i)  woTHH HEA
(iii) — HHEATR (iv)  EH9IRE
(b) ~ THENR 1 FE Th STIIAM e
(@) Explain with examples :
(i) atomic number (ii) mass number
(iii)  isotopes (iv)  isobars
(b) Give any one use of isotopes.
18 @) = % "mr T fafe 5
) —-—
(i) i
(i) ~ FPEAE

(iv) U=IRU"
(b) 39w % W fafen fFed 3 st gefyd €
ok G SUINT TordT STH oTeT = § Te™eh a3 sl A fafau |
TEIRTE 1 @ Sl |

a
a2 L
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(@) Write the common names of the following :

(i) Antedon

(if) Holothuria

(iii)  Echinus

(iv)  Asterias

Name the phylum to which they belong.
Name the system they use for moving around.
Draw the diagram of Asterias.

TH < W & T fafed s 3o 8§

()  ©mal &l dAfie R g

(i) Sl % HHAU Y

(i) H=sU 9

(b) M % S ot gferd emafd i eTqufeufa @ 3o 29 At i % St A fafed e 3
I Icq R Alel S o 4 fafed |

(@) Name two diseases caused by :

(i) Sexual act of humans

(if) Droplet infection after sneezing

(iii)  Mosquitoes
(b) Name two diseases caused by absence of safe supply of drinking water and the
pathogens causing them.

20 H= T A g T E-

M AWAW AT
\VAAVALY, ~
@ A H ¥ DG T e AR #1 et <t 22 1o S R Hied i |
(b) TR W WRRT T iR sifuesmn w1 AW fafen) T sifhage w1 uRaifid sifsw ®F
T 7T o fore 3w sifetaron o1 A s @2
() IS IS ¥ Th TN ol ohi €31 1 % (o1 o6 TedTe fohl YohR TEYa 81 Tl © |

Two waves are shown bglow :
"NNAN "~
UV VUV ~

(@) Which of the two corresponds to low pitched sound.

S

=

19

A~ N N~
Q @)
~— ~

(b) Identify the characteristic of sound the graphs represent. Define that characteristics.
For which graph the value of this characteristic is more ?
(c) How is it possible to identify sounds of two musical instruments producing sounds of

same intensity without seeing them.

21 @) m SAEF HI Tk 9&, S A7 ¢ ° Taeia ®, gN enfae ufas et & fau =i
g HIfTu) TIfast s k1 SI A+t fafag)
(b) 400 g FFHM T Tk sfcd 25 m/s H Tk GOH o0 ¥ o W qgehdl g sid gRI
srifaee wIfdst sl 7@ SifSUl

(@) Derive an expression for kinetic energy possessed by an object of mass m moving with
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velocity v. Also state the SI unit of kinetic energy.
(b) A ball of mass 400 g rolls on a ground with uniform speed of 25 m/s. Find the kinetic
energy possessed by it.

Y- ( 97 918 ) /SECTION - B (OTBA)
(* Please ensure that open text of the given theme is supplied with this question paper.)
fawr : S srafare wege

Theme: Solid Waste Management

22 AT Yavd & Sfad MUeM & %7 ¥ &7 =R IRomi | == &

Discuss at least 4 consequences of the inappropriate disposal of refuse.
23 qRA H $-hed, Wifider TR e Siaifie eyt yevd & fau «F @ frem = €2

Which rules have been framed guiding E-waste, plastic waste and industrial waste
management in India?

24 A faemea | sufite yeivA FEET SRY W 2q Uid suA fafau)
State five steps to initiate a waste management programme in your school.

HIT-|/ SECTION - C

25 e IEE o FIHI 1 AT L & TR | fedhfesd =€t a5y & 9ed | 59 919 3T =1feu
TE :
(a)  TIZY I & (b)  TRY I BRI
(c)  URY & =M (d) Y % ke el off
In an experiment to verify the laws of reflection of sound, position of the ticking clock should
be along the :-
(@) axis of pipe (b) radius of pipe
() diameter of pipe (d) any where near the pipe

26 et B 1 fou T =Y i fafy=T el W WS o 3¢9 T i qarl 8 o faT Tk &
1§ 1 A T T = W A T E
() I I ] W H @ a9 ik Aie R |
(i) ~ FHEFIGR TAT 1 STeqdHIh TRehferd HET|
(iti) ~ FHMIGR eIl i I A AT
(iv)  T<U 7T SA19 1 YR AT |
71 ==l o1 TR ST €
@ () (i), () ) (b) (i), (i), (), (v)
(€ (i) (i), (iv), (i) (d) (i), (iv), (i), (i)
A student has to perform the experiment, for comparing the pressure of the given cuboid
placed at different faces. The steps given below are not in correct

sequence :
(i) To place the cuboid slowly on the sand and note the reading.
(if) To calculate the least count of spring balance.

(iii)  To measure the zero error in the spring balance.
(iv)  To measure the weight of the given cuboid.
The correct sequence of steps will be :

@ () (i), (i), (i) (b) (i), (i), (i), (iv)
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(© (i) (i), (iv), (i) (d) (i), (iv), (i), (i)
27 T TG 1 o TohTeT ot STUET TG Rl STA oFT 1 ahid ol R B
a) U8 UH fram Sy v H ernfhd 8 =ifen )
b)  iEd 9= | BH Terd HH A B @ |
¢  IE AN Ffe F HR Uil H faTer I HH L A § |
d) 3 Hfew U § sHfaT 39 A SiEd § STERT el At |

The reason to find average velocity of pulse instead of individual velocity is :

(
(
(
(

(@) It is a rule to be followed in every experiment.
(b) Average helps us to know incorrect value.
() It eliminates the effect of any deviation in the reading due to human error.

(d) Velocity is a vector quantity hence its value is used in average.

28 B9 ! afedl gt § -

(a) e oI (b) e F
(¢ = (d) e
In pinus leaves are
(@) Needle like (b)  Scale like
(c) Flat (d) Broad shaped
29 = @ T e stufwrsll § 8 S | sfufwan geme wen % e il weti w1 % fau
I T © 2

(@) o HEe i fodier |

(b)  FoeR TR o1 Wifeaw FANEE & HeA AR |

()  Hifean TESlFEEE a0 TSRl 37 o Hed Afufshar |
(d) 9T FAREE q Hifean Hothe % HEA SHshA |

Which of the following chemical reaction is not appropriate to verify the law of conservation of

mass ?

(@) Decomposition of calcium carbonate

(b) Reaction between Silver nitrate and sodium chloride

(c) Reaction between sodium hydroxide and hydrochloric acid
(d) Reaction between Barium chloride and sodium sulphate

30 g X g WHIRREH Y'g SAfeSH | GAifS 81 & a1 ‘7 g Hifew sifemmse aqm ¢ df s
et 1 frem wenfia s % fog w2t w2
(@) X+Z— Y (b) X+Y—>» Z
() X—-Y— Z d Y+7z— X
If X" g of Magnesium combines with “Y’g of Oxygen and forms ‘Z’" g of Magnesium oxide,
then to verify the law of conservation of mass, the correct equation is :
(a) X+Z—» Y (b) X+Y—> Z
(c) X=Y— Z d Y+zZz— X
31 foeloreh il & weel § f § § 919 W e W §2

(@)  STifctehrerd RRIfa=amE, THa STe qo1 d=ai g |
(b)  FHMIR FRRfer=md, qEer STg qe = 5 |
(© AR frfems, WeR Sie qun B g
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(d) T g, Sfershrer o= aen g@er S$|

Which of the following statement is correct with respect to dicotyledonous plants ?

(@) Reticulate venation, tap root, pentamerous flowers.
(b) Parallel venation, tap root and pentamerous flowers.
(c) Parallel venation, fibrous root and trimerous flower.
(d) Trimerous flower, reticulate venation and tap root.

32 fopdl WY A 5 RIS, 5 <A, 5 GG IR 5 SHHET & qo1 SqH! ufwdl ¥ Sifeseq frfaae 1
2l dl 9% ey 59 ol 4 ey @ § e U ®
(a) TehsTSTasl (b) fesiisTosit
OREIRIEIEC (d) RerwmEe

If a plant has 5 sepals, 5 petals, 5 stamens, 5 carpels and has leaves with reticulate venation,
then the plant belongs to the group whose plants are :
(a) Monocotyledonous (b) Dicotyledonous
(c) Bryophyte (d) pteridophyte
33 o <k S{Ie <5k hi ST < o H Tefd HY i T : 1
a) eV H a1 A & feke faifua € €
b) Sl el @ o |
c)

T Y TR TR ke §

d) Ul TR B |

(
(
(
(
Identify the incorrect statement about the stages in the life cycle of a mosquito.
(
(
(
(

a) eggs are deposited on or near water.
b) larva does not feed.
C) from pupa an adult mosquito emerges.
d) pupa undergoes metamorphosis.
34 ()  afcen fordll axg =1 9T # 0 9 | SR IHHT ST TG HLAT 918d © O 3 e R 2
<1 BT =fey ?
(i) A P 9% 59 H Tae W el ® A 39k gN forwenfuad g9 1 R, 9% F IR HT Jo H
feen 2 2
(1) If we want to determine the volume of a solid by immersing it in water, then what

kind of solid should we take ?
(if) If a body floats on the surface of a liquid, then how much is the weight of the liquid
displaced as compared to weight of body ?

35 forelt T B g <Rt g AT YR 9 H 2 N & 991 ot H quiqar gaM W 1.5 N § | 9% W o a2
ICATEH a¢ UReRfard it |

In an experiment a metal ball weighs 2N in air and 1.5 N when immersed completely in water.
What is the magnitude of the buoyant force acting on it ?

36 = feu U < fosll o ST R 0 A T 39 1 IR 9 § 997 3§ S § AW & 9vEd o S 2
Jael | HIAT| 36 & AR H 3T T 1 qReher Hitd |
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Meera notes down the weight of a solid in air and after immersing it in water with the help of
two spring balances as shown in a diagram given below. Calculate the weight lost by the
solid.

-0000000-
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